ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

A problem with non-local conditions for a mixed parabolic-hyperbolic equation with two lines of changing type

I.U.Khaydarov

Fergana State University, Fergana, Uzbekistan

I. Introduction. Formulation of the problems

The theory of mixed type equations is one of the modern part of the theory of partial differential equations. Recently a circle of problems for mixed type equations was considerably extended. Studying boundary-value problems for mixed parabolic-hyperbolic type equations is also one of the actual directions of the theory of mixed type equations. It can be explained on the one hand mathematical models of some real-life processes are brought to study problems for such type equations, on the other hand it is inner neseccity of the theory of the theory of partial differential equations. For instance, for the first time the necessity of consideration of parabolic-hyperbolic type equation was specified in 1959 by I. M. Gel'fand [1]. He gave an example, connected to the movement of gas in a channel, surrounded by a porous environment: inside the channel the movement of the gas is described by the wave equation, outside by the equation of diffusion. The basic bibliography about the history of the occurrence and development of this subject can be found in the book of T. D. Djuraev [2]. At the present time researchers pay attention to study problems with nonlocal conditions, such as problems with integral conditions, with Bitsadze-Samarskiy conditions and others. For more information we note works [3],[4] and references therein.

Consider the following parabolic-hyperbolic equation

$$0 = L_{l} u \in \iint_{H} u_{xx} - u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} = u_{y} - l_{1}^{2} u, \qquad (x, y)OW_{0},$$

$$U_{xx} =$$

where l_1, l_2 are given complex numbers, $\Omega_0 = \left\{(x,y) : 0 < x < 1, 0 < y < 1\right\}$, $\Omega_1 = \left\{(x,y) : -y < x < 1+y, (-1/2) < y < 0\right\}$, $\Omega_2 = \left\{(x,y) : -x < y < 1+x, (-1/2) < x < 0\right\}$, and also Ω_1^* and Ω_2^* are domains symmetric domains Ω_1 and Ω_2 with respect to line x+y=0 respectively.

 $\text{Let } O(0,0) \;,\; A(1,0) \;,\;\; B(0,1) \;,\;\; A^*(0,-1) \;,\;\; B^*(-1,0) \;,\;\; C(1/2,-1/2) \;,\;\; D(-1/2,1/2) \;,$ $A_0(1,1) \;,\; a \;\; OA(OB^*) \;,\;\; OB(OA^*) \;,\;\; OC(OD) \;,\;\; AA_0 \;\; \text{is the segment } \quad \text{of the lines } \; y=0 \;,\; x=0 \;,$ $x+y=0 \;,\;\; x=1 \;\; \text{respectively} ;\;\; \Omega=\Omega_0 \cup \Omega_1 \cup \Omega_2 \cup \Omega_1^* \cup \Omega_2^* \cup OA \cup OB \cup OC \cup OD \;.$

Boundary value problems for equation $L_{\lambda}u=0$ in the domain $\Omega_0 \cup \Omega_1 \cup OA$ investigated in the works [2,5,6], and in the domain $\Omega_0 \cup \Omega_1 \cup \Omega_2 \cup OA \cup OB$ in [7]. And also various type

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

of boundary value problems were formulated and investigated in [8,11,12,13] for equation $L_{\lambda}u = 0$ in the domain Ω .

In this paper we study the following problem for equation (1) in the Ω .

Problem M. Find a function u(x, y) satisfying following condition:

1) It is a regular solution of the equation $L_{\lambda}u=0$ in the domains Ω_0 , Ω_1 , Ω_2 , Ω_1^* , Ω_2^* ;

2)
$$u(x,y) \in C(\overline{\Omega}) \cap C^1((\Omega \cup OA^* \cup OB^*) \setminus (OC \cup OD));$$

3) It satisfies conditions

$$u(1, y) = \varphi(y), \quad 0 \le y \le 1;$$
 (2)

$$u_{y}(t,0) = f_{1}(t), -1 < t < 0;$$
 (3)

$$u_x(0,t) = f_2(t), -1 < t < 0;$$
 (4)

$$u(t,0) + u(0,-t) = g_1(t), \quad 0 \le t \le 1;$$
 (5)

$$u(0,t) + u(-t,0) = g_2(t), \quad 0 \le t \le 1.$$
 (6)

Here $\varphi(y)$, $f_j(t)$, $g_j(t)$ (j=1,2) are given functions, such that $\varphi(y) \in C^1[0,1]$; $g_1(t)$, $g_2(t) \in C[-1,0] \cap C^2(-1,0)$ if $g_1(0) = g_2(0) = 0$; $f_1(t)$, $f_2(t) \in C^1(-1,0)$ and may has singularity less that one when $t \to 0$ and $t \to (-1)$.

Let u(x, y) be a solution of the problem M. We introduce notations:

$$u(x,0) = \tau_1(x), \quad 0 \le x \le 1; \quad u(0,y) = \tau_2(y), \quad 0 \le y \le 1;$$

 $u_y(x,0) = v_1(x), \quad 0 < x < 1; \quad u_x(0,y) = v_2(y), \quad 0 < y < 1.$

Then using conditions (3)-(6) and formulas which define solution of the problem Cauchy for equation $L_{\lambda}u=0$ in the domains Ω_j , Ω_j^* (j=1,2) [9], and also continuity of the solution u(x,y) for transition over the line x+y=0, it is easy to see that, the problem M is equivalent to the following problem in Ω_0 : find a regular in the domain Ω_0 solution $u(x,y) \in C(\bar{\Omega}_0) \cap C^1(\Omega_0 \cup OA \cup OB)$ of the equation

$$u_{xx} - u_y - \lambda_1^2 u = 0, \quad (x, y) \in \Omega_0,$$
 (7)

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

satisfying conditions (2) and

$$\tau_{1}(x) = \frac{1}{2} \int_{0}^{x} \left[v_{1}(t) + f_{2}(-t) \right] J_{0} \left[\lambda_{2}(x-t) \right] dt + \frac{1}{2} g_{1}(x), \qquad 0 \le x \le 1; \quad (8)$$

$$\tau_{2}(x) = \frac{1}{2} \int_{0}^{x} \left[v_{2}(t) + f_{1}(-t) \right] J_{0} \left[\lambda_{2}(x-t) \right] dt + \frac{1}{2} g_{2}(x), \qquad 0 \le x \le 1; \quad (9)$$

where $J_0(z)$ is first kind zero index Bessel function.

Assuming (8) and (9), as Abels inetgral equation with respect to $v_1(x) + f_2(-x)$ and $v_2(x) + f_1(-x)$ respectively, as in [10], we obtain

$$v_1(x) = -f_2(-x) + C_{0x}^{0,\lambda_2}[2\tau_1(x) - g_1(x)], \qquad 0 < x < 1;$$
(10)

$$v_2(x) = -f_1(-x) + C_{0x}^{0,\lambda_2}[2\tau_2(x) - g_2(x)], \qquad 0 < x < 1, \tag{11}$$

where
$$C_{mx}^{0,\lambda}[p(x)] \equiv sign(x-m) \left\{ \frac{d}{dx} p(x) + \frac{1}{2} \lambda^2 \int_{m}^{x} p(t) \overline{J}_1[\lambda(x-t)] dt \right\}, \overline{J}_1(z) = (2/z) J_1(z).$$

(10) and (11) are the main functional relations among $\tau_1(x)$, $\tau_2(x)$, $\nu_1(x)$ and $\nu_2(x)$, obtained from the condition thast the solution of problem M in the area of hyperbolicity of equation (1) must satisfy conditions (3)-(6).

II. The uniqueness of the solution.

Theorem. If the inequality $|l_1|$ i $(\sqrt{2}/2)$ holds, then problem M cannot have more than one solution.

Proof. Let u(x,y) be solution of the problem M for $j(y) \in f_j(y) \in g_j(x) \in 0$ $(j=\overline{1,2})$. Then the identity (7) and equalities are valid: $t_j(0) = t_j(1) = 0$, $j=\overline{1,2}$,

$$n_1(x) = 2C_{0x}^{0,l_2}[t_1(x)], \quad n_2(x) = 2C_{0x}^{0,l_2}[t_2(x)], \quad 0 < x < 1.$$
 (12)

Multiplying identity (7) by the function u(x, y), rewrite in the form

$$(uu_x)_x - \frac{1}{2}(u^2)_y - (u_x)^2 - l_1^2 u^2 = 0, (x, y) OW_0.$$
 (13)

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

Integrate identity (13) over the rectangle $W_0^{e,h}$, bounded by lines x=e, x=1-e, y=h, y=1, where e and h are small enough positive numbers. Then, applying Green's formula, we have

$$\operatorname{TT}_{\mathbf{W}_{0}^{e,h}} \left\{ l_{1}^{2} u^{2}(x,y) + \left[u_{x}(x,y) \right]^{2} \right\} dx dy + \frac{1}{2} \operatorname{T}_{e}^{1-e} u^{2}(x,1) dx - \frac{1}{2} \operatorname{T}_{e}^{1-e} u^{2}(x,h) dx + \frac{1}{2} \operatorname{T}_{e}^{1-e} u^{2}(x,y) dy - \frac{1}{2} \operatorname{T}_{e}^{1-e} u^{2}(x,y) dy - \frac{1}{2} \operatorname{T}_{e}^{1-e} u^{2}(x,y) dy = 0.$$

Hence, for $h \otimes 0$, $e \otimes 0$, taking into account $u(1, y) \in 0$, we get

$$\underset{\mathbf{W}_{0}}{\text{TT}} \left\{ l_{1}^{2} u^{2}(x, y) + \left[u_{x}(x, y) \right]^{2} \right\} dx dy + \frac{1}{2} \underset{0}{\overset{1}{\text{T}}} u^{2}(x, 1) dx - \frac{1}{2} \underset{0}{\overset{1}{\text{T}}} t_{1}^{2}(x) dx + \underset{0}{\overset{1}{\text{T}}} t_{2}(y) n_{2}(y) dy = 0. \tag{14}$$

Using equality (12), it is easy to verify that

hence, by virtue of $t_{i}(0) = t_{i}(1) = 0$, $j = \overline{1,2}$, we get

$${\mathop{\rm T}_{0}}^{1} t_{1}(x) n_{1}(x) dx + {\mathop{\rm T}_{0}}^{1} t_{2}(x) n_{2}(x) dx =$$

$$= l {}_{2} {}_{T}^{1} t_{1}(x) dx_{T}^{x} t_{1}(t) \overline{J}_{1} [l_{2}(x-t)] dt + l {}_{2} {}_{T}^{x} t_{2}(x) dx_{T}^{x} t_{2}(t) \overline{J}_{1} [l_{2}(x-t)] dt.$$
(15)

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

Further, we integrate identity (13) with respect to the segment $\{(x,y): y=h, e < x < 1-e \}$. In the resulting equality, passing to the limit at $h \otimes 0$, $e \otimes 0$, taking into account $t_1(0) = 0$ and $t_1(1) = 0$, we get

$$\frac{1}{T} t_{1}(x) n_{1}(x) dx = -\frac{1}{T} \prod_{j=1}^{M} N(x) \prod_{k=1}^{M} dx - l_{1}^{2} T t_{1}^{2}(x) dx.$$
(16)

Substituting (16) into equality (15), we have

$$\frac{1}{T} t_{2}(x) n_{2}(x) dx = \frac{1}{2} l_{2} \frac{1}{T} t_{1}(x) dx_{T}^{x} t_{1}(t) \overline{J}_{1} [l_{2}(x-t)] dt + \frac{1}{2} l_{2} \frac{1}{T} t_{2}(x) dx_{T}^{x} t_{2}(t) \overline{J}_{1} [l_{2}(x-t)] dt + \frac{1}{T} \underbrace{\ddot{H}}_{0} \breve{X}(x) \underbrace{\ddot{H}}_{D} dx + l_{1} \underbrace{\ddot{H}}_{1} t_{1}^{2}(x) dx. \tag{17}$$

Using formula

$$J_w(z) = \frac{(z/2)^w}{\sqrt{p}G(w+1/2)} \frac{1}{T} (1-x^2)^{w-(1/2)} \cos(xz) dx, \text{ Re } w > -1/2,$$

where G(z) is Euler gamma function, it is easy to see that

$$\underset{0}{\overset{1}{\operatorname{T}}} t_{j}(x) dx_{\overset{1}{\operatorname{T}}} t_{j}(t) \overline{J}_{1} [l_{2}(x-t)] dt =$$

$$= \frac{1}{p} \frac{1}{T} (1 - x^2)^{1/2} \underbrace{\mathbf{K}^{l}}_{\mathbf{K}^{T}} t_{j}(t) \cos(l_{2}xt) dt \underbrace{\mathbf{H}^{2}}_{\mathbf{H}^{T}} + \underbrace{\mathbf{K}^{l}}_{\mathbf{K}^{T}} t_{j}(t) \sin(l_{2}xt) dt \underbrace{\mathbf{H}^{2}}_{\mathbf{H}^{T}} \underbrace{\mathbf{K}^{l}}_{\mathbf{K}^{T}} dx i \quad 0, \ j = \overline{1,2} . \ (18)$$

Substituting (17) into (14), and then taking into account the inequalities (18) and the condition $|l_1|$ is $(\sqrt{2}/2)$, we derive that $u_x(x,y) \in 0$, i.e. u(x,y) = w(y), $(x,y) \odot \overline{W}_0$. Since $u(1,y) \in 0$, 0 = 0

Since $t_1(x) \in t_2(y) \in 0$ for $j(y) \in f_j(x) \in g_j(x) \in 0$, $j = \overline{1,2}$, from (12) follows that $n_1(x) \in n_2(y) \in 0$. Then, solutions of the Cauchy problem for equation (1) with homogeneous initial data, $u(x,y) \equiv 0$ in $\overline{W}_1 \, W \, \overline{W}_3$. Consequently, $u(x,y) \Big|_{\overline{ED}} \in 0$.

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

Considering this and $f_1(x) \in f_2(y) \in \mathbb{O}$, then, according to the uniqueness of the solution of the Goursat problem for equation (1) in the domains W_2 and W_4 , we get $u(x,y) \in \mathbb{O}$, $(x,y) O \overline{W}_2 \ H \overline{W}_4$. Consequently, $u(x,y) \in \mathbb{O}$, $(x,y) O \overline{W}$, hence follows that Problem M cannot have more than one solution. The theorem has been proven.

III. Existence of the solution. Let u(x,y) be a solution of the problem M. Then equality (7), (10) and (11) are valid. Passing to the limit at $y \to +0$, from (7) we obtain equation $\tau_1''(x) - \lambda_1^2 \tau_1(x) = \nu_1(x)$, $0 \le x \le 1$.

The solution of this equation in the interval $0 \le x \le 1$, satisfying the boundary conditions $\tau_1(0) = g_1(0)$, $\tau_1(1) = \varphi(0)$, is represented as

$$\tau_1(x) = F_1(x) + \int_0^1 K(x,t) \nu_1(t) dt,$$
 (19)

where $F_1(x) = xj(0) + (1-x)g_1(0) + l_{1}^2 \int_0^1 G(x,t)[tj(0) + (1-t)g_1(0)]dt$,

$$K(x,t) = \begin{cases} sh\lambda_1(1-t)sh\lambda_1x/(\lambda_1sh\lambda_1), & 0 \le x \le t, \\ sh\lambda_1t sh\lambda_1(1-x)/(\lambda_1sh\lambda_1), & t \le x \le 1. \end{cases}$$

Substituting (10) into (19), we obtain

$$t_1(x) - {1 \atop T} K_1(x,t) t_1(t) dt = F_2(x), \qquad 0 \text{ J } x \text{ J } 1.$$
 (20)

Here $G_1(x,t) = 2C_{1t}^{0,l_2}[G(x,t)],$

$$F_2(x) = F_1(x) - \frac{1}{T} f_2(-t) K(x,t) dt - \frac{1}{T} g_1(t) C_{1t}^{0,l_2} [K(x,t)] dt.$$

(20) is an integral Fredholm equation of the second kind with respect to $t_1(x)$. The unique and unconditional solvability of Eq. (20), by virtue of equivalence, follows from the uniqueness of the solution to Problem M.

Next, in the domain W_0 we consider the first boundary value problem for Eq. (7), with boundary data $u(0,y) = \tau_2(y)$, $u(x,0) = \tau_1(x)$, $u(1,y) = \varphi(y)$.

The solution to this problem is determined by the formula [1]

27	ISSN 2349-7793 (online), Published by INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, IT, ENGINEERING AND SOCIAL SCIENCES., under Volume: 16 Issue: 10 in October-2022 https://www.gejournal.net/index.php/IJRCIESS
	Copyright (c) 2022 Author (s). This is an open-access article distributed under the terms of Creative Commons Attribution License (CC BY). To view a copy of this license, visit https://creativecommons.org/licenses/by/4.0/

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

$$u(x,y) = \int_{0}^{y} \tau_{2}(\eta) e^{\lambda_{1}^{2}(\eta-y)} G_{\xi}(x,y;0,\eta) d\eta - \int_{0}^{y} \varphi(\eta) e^{\lambda_{1}^{2}(\eta-y)} G_{\xi}(x,y;1,\eta) d\eta + \int_{0}^{1} \tau_{1}(\xi) e^{-\lambda_{1}^{2}y} G(x,y;\xi,0) d\xi,$$
(21)

where
$$G(x, y; \xi, \eta) = \frac{1}{2\sqrt{\pi(y-\eta)}} \sum_{n=-\infty}^{+\infty} \left\{ \exp\left[-\frac{(x-\xi+2n)^2}{4(y-\eta)}\right] - \exp\left[-\frac{(x+\xi+2n)^2}{4(y-\eta)}\right] \right\}.$$

Differentiating (21) with respect to x and setting x = 0, after some calculations, we have

$$v_{2}(y) = -\int_{0}^{y} \left[\tau_{2}(\eta) e^{\lambda_{1}^{2}(\eta - y)} \right]_{\eta}' N(0, y; 0, \eta) d\eta + F_{3}(y), \quad 0 < y < 1,$$
(22)

where
$$F_3(y) = \int_0^y \left[\varphi(\eta) e^{\lambda_1^2(\eta - y)} \right]_{\eta}' N(0, y; 1, \eta) d\eta + \int_0^1 \tau_1'(\xi) e^{-\lambda_1^2 y} N(0, y; \xi, 0) d\xi$$

$$N(0, y; \xi, \eta) = 1/[\pi(y-\eta)]^{-1/2} \sum_{n=-\infty}^{+\infty} \exp[-(\xi-2n)^2/4(y-\eta)].$$

Substituting (9) into (22), we have

$$v_2(y) = \int_0^1 K_2(y,t)v_2(t) dt + F_4(y), \qquad 0 < y < 1,$$
 (23)

where

$$K_{2}(y,t) = \frac{1}{2} e^{l_{1}^{2}(t-y)} N(0,y;0,t) + \frac{1}{2} \int_{t}^{y} \mathbf{H}_{0}[l_{2}(h-t)] e^{l_{1}^{2}(h-y)} \mathbf{H}_{\frac{1}{2}h}^{\mathbf{H}} N(0,y;0,h) dh ,$$

$$F_{4}(y) = F_{3}(y) - \frac{1}{2} \int_{0}^{y} f_{1}(-h) e^{l_{1}^{2}(h-y)} N(0,y;0,h) dh +$$

$$- \frac{1}{2} \int_{0}^{y} f_{1}(-t) dt \int_{t}^{y} \mathbf{H}_{0}[l_{2}(h-t)] e^{l_{1}^{2}(h-y)} \mathbf{H}_{\frac{1}{2}h}^{\mathbf{H}} N(0,y;0,h) dh -$$

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

$$-\frac{1}{2} \prod_{0}^{y} H_{2}^{\mathbf{H}}(h) e^{l_{1}^{2}(h-y)} H_{2h}^{\mathbf{H}} N(0, y; 0, h) dh.$$

(23) is a Volterra integral equation of the second kind with a weak singularity with respect to $n_2(y)$. It has unique solution.

After the function $v_2(x)$ from (23) is found, the functions $\tau_2(x)$ and $v_1(x)$ are uniquely found by formulas (9) and (10), respectively. After that, the solution of problem M in the domain Ω_0 is defined by (21), and in the domains Ω_j , Ω_j^* (j=1,2) fomulas that gives the solution of the Cauchy problem for the equation $L_2u=0$ [9].

This completes the proof of the existence of a solution to Problem M.

REFERENCES

- 1. I. M. Gel'fand, Some questions of analysis and differential equations, Uspekhi Mat. Nauk Ser. 3 XIV, No. 87, 3–19 (1959); Amer. Math. Soc. Transl. (2) 26, 173–200 (1963).
- 2. Джураев Т.Д., Сопуев А., Мамажонов М. Краевые задачи для уравнений парабологиперболического типа. Ташкент: Фан, 1986. 220 с.
- 3. A.K.Urinov, A.O.Mamanazarov. Unique solvability of a nonlocal problem with shift for a parabolic-hyperbolic equation. Vestnik Udmurtskogo Universiteta. Matematika. Mekhanika. Komp'yuternye Nauki, V.30, N.2, p. 270-289.
- 4. A.O.Mamanazarov. A non-local problem for a parabolic-hyperbolic equation with singular coefficients. Uzbek Mathematical Journal. V.65, Issue 1, p. 118-137.
- 5. *Сабитов К.Б.* К теории уравнений смешанного параболо-гиперболического типа со спектральным параметром // Дифференциальные уравнения. 1988. Т. XXIV. С. 117-126.
- 6. Каримов Э.Т. Краевые задачи для уравнений параболо-гиперболического типа со спектральным параметром. Автореф. канд. дисс. Ташкент, 2006. –19 с.
- 7. Эгамбердиев У. Краевые задачи для смешанного параболо-гиперболического уравнения с двумя линиями изменения типа. Автореф. канд. дисс. Ташкент, 1984. —17 с.
- 8. A.K. Urinov, I.U. Khaydarov. On a problem for parabolic-hyperbolic type equation with non-smooth line of type change // Abstracts 6th international ISAAC congress. Turkey. 2007. c. 105.
- 9. *Тихонов А.Н., Самарский А.А.* Уравнения математической физики. М.: Наука, 1977. 737 с.
- 10. Салахитдинов М.С., Уринов А.К. Краевые задачи для уравнений смешанного типа со спектральным параметром. Ташкент: Фан, 1997. 168 с.
- 11. Уринов А.К., Хайдаров И.У. Об одной задаче с нелокальными условиями для парабологиперболического уравнения // Доклады Адыгской (Черкесской) Международной Академии наук. Нальчик, 2010. Т.10. -№2. С. 80-87.

29	ISSN 2349-7793 (online), Published by INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, IT, ENGINEERING AND SOCIAL SCIENCES., under Volume: 16 Issue: 10 in October-2022 https://www.gejournal.net/index.php/IJRCIESS
	Copyright (c) 2022 Author (s). This is an open-access article distributed under the terms of Creative Commons Attribution License (CC BY). To view a copy of this license, visit https://creativecommons.org/licenses/by/4.0/

ENGINEERING AND SOCIAL SCIENCES

ISSN: 2349-7793 Impact Factor: 6.876., Volume: 16 Issue: 10 in October 2022

12. Уринов А.К., Хайдаров И.У. Внутренне-краевая задача для параболо-гиперболического уравнения с негладкой линией изменения типа // Естественные и технические науки. –Москва. 2007. -№7. –С. 23-28.

13. Хайдаров И. Краевая задача для одного параболо-гиперболического уравнения с негладкой линией изменения типа // Доклады АН РУз. Ташкент, 2010. – №1. – С. 3-6.